VEAR 8 - DEVELOPING

@nhisto_maths

'Whatdolneedtobeable

NUMBER, ..
Standard Form

I to do?

By the. end of this unit you should be. able to:
White numbers in standard form and as
ordinary numbers

Order numbers in standard form

Odd/ Subtract with standard from
Muttiply/ Dwide with standard form

Standard (index) Form: O system of writing very big or very small numbers

Commutative: an operation is commutative if changing the order does not change the resutt

Base: The number that gets muttipled by a power

Power: The exponent — or the number that tels you how many times to use the number in multiplcation
Exponent: The power — or the number that tels you how many times to use the number in muttiplcation
Indices: The. power or the exponent

Negative: O valve below zero

Use a caculator with standard form

amxan=am+n alﬂ+aﬂ=alﬂ‘n

" I .

: Posttive powers of 10 ' 1 Standard form with numbers > | || Neagtive powers of 10 |

R I I

I bilion — 1 000 000 000 | Ony integer |
| e | Ony number 10 1 1 1 1
| 0% 0x 0x 10x 0x10x 0x10x 10x10- 10° | between tand A xlO"‘/ :: 0.001 * = 06 006 :
| Oddtion rule for indices 107 x 10° = 1020 :: ess toan 10 I| [x — o000 10! 0° ® [0 04 10 I
| | I
) @ )
| Subtraction ruke for indices 107 - 10° = 107 :: Exarmpe Non-exampk. || [x 103 /f PO I
TN
- al 32x D¢ (ogx 0+ I
r---—- - - - - —-—-—"— - - - - |: =32x10x10x10x 10 \")( || Ony value to Negative powers do not |
o - the power O
| Numbers between O and | :I - 32000 5.3y (00 :: s - | indcate neggtive sobtions :
1 1 1 |_
| 0.054 1 o o o T _—_—_—_—_—_—_—_—_—_—_—_—_ ___________________________________
|-54x10% "0 0 |0 | o | Order numbers n stondard fom | o | 0 | o e 0 |6 | o | o]
| 1l
| 0 e A 4 -2 2 0 -l Look at the power first
I :: 6.4x 10 A4x 10 3.3x 10 L3x 10 will the. number be = > or < than | :
| O neggtive power does not mean a negative Il 0.064 240 | 0.13 Use a place vale grid to compare the |
I answer — it means a number closer to O numbers for ordering
|

_______________ _||_______________________________.l

r------------------------—"-"=-"—-—""—"/7""7"""""7""—-"————— = |
; Tip: Convert into ordinary numbers first and back to
: Meﬂta| CGMGUOHS : Oddltlon and SUbthtIOn standard from ot the end :
41000 @ 1°x® !

| 6.4 x10°x1000  Not in Stardard Form 1 |
- 6.4y 102x 103 =24 x 10° Notin Standard Form|| Method | 6 X |05 + 8 X |05 Method 2 |
| Use addtion for indices rule —

= 0.4 x10° Ly I 600000 + 800000 =6+ gxl0° |
| ———— = A4 x 10'x 107 use addtion for || 00000 iy 1 |
I = 2.4 x 10° indces e [l This is not the - } . I
! 2109~ I L O° final arswer W00 |
| X Divide the valves cementer the oot for Sarcrd | = 14x10° |

=2~ 4)x |O3 emem loyout for orm | More robust method
| : | I Less room for misconceptions |
[-05x10° Ory rumber Ony integer | | | Easier to do catuiations with Only works if the powersare | |
| beteen | and Axlon || negotive indces the same |
| s than 10 || Can vse for dffferent powers I
L = ol I_ _______________________ d
I | |

Use a catculator to work out ths
: T"k)mpmtlon and dwision For muttiplcation and duision you can ook at the :: USIYM  cakulator 14 x10° x 39x10° question o a stk de@ e of :
Division questions valves for N and the. powers of 10 as two aceuracy

: L5 x |O5 A can ook Ike ths separate cabulations |: lput 14 and press Then press 5 (for the power) :

0.3 x 10 / 11 press (X)
| | b This gives you the soltion |
| | Input 39 and press Then press 3 (for the power) |
| @X 0°)~ x 10°) Il Press (=) / |
I Revistt addition and subtraction laws for indces — || ' ) o
| 5. 103 they are needed for the cakculations | Clck cabur for video ttoria |

x 10°-10

| || To put into standard form and a suitable. degree of accuracy |
: -Fy 04 O Tor nioes biretionlawfor indees Il Press and then press 7 for sci mode ‘ Orener 55 108 ‘ :
l |

| Choose a degree of accuracy so in most cases press 2



https://www.bing.com/videos/search?q=using+a+casio+calculator+and+standard+form&docid=608044502750464883&mid=79B649FE748118FB662E79B649FE748118FB662E&view=detail&FORM=VIRE

YERR € - DEVELOPING NUMBER.
— Fractions & Percentages

* Increase or decrease using multipliers
* Express an amount as a percertage
*  find percentage change

Growth: to increase/ to grow
Integer: whole number, can be posttive, neggtive or zero
Invest: use money with the goal of it increasing in valve. over time. (Usualy in a bank)

______________ _ —_— T __

I
| What do [ needto be abe || heunords |
| to do? | Percent: parts per 100 —written using the / symbol I
| ——— | | Decimal a number in our base 10 number sustem Numbers to the right of the decimal place are caled decimas I
| By the end of this unit you shouid be able to: | | Fraction: a fraction represents how many parts of a whole value you have |
|« Convert between FOP less than and | Equivdlert: of equal value I
: more than 100 | : Reduce: to make smaler in vale :
| : I I
| I | |
| I | |

| Convert FOP (R ] ” Eraction/ Percentage of amount (R ] |
| 70 This akso 70t of 100 , 70 hundreaths 11 — |
| i —> e _:O';%ngth{—b —> .07 | Fmdgof £o0 [ERIZRem [ea]ed] |
X un , «—>
I Using a 1 ,[OO = 7 ‘tenths’ : : £36 |
I 07 Remember Remember |
| cakulator i ‘ Be careful of recurring decimals 5 07 of £60 - £6 i 360/ - 06 |
| m eg | 03333333 | || 7607 50/ of £60- £30 5 |
| -5~ = $=D |Comert to g decimal 5 - (;'3 [ 607 of £60 = £36 607 of £60 |
| Tre dot aboit the 3 I - 06 60 I
This will give. you the answer \ 100 converts 0 -£36 |
in the simplest form to a percertage T
|_ _______________________________________________ I
| | Convert FDP < and > 1007 :' Percentage decrease: Muttivliers Percentaoﬂ increase: Mutipliers |
4 V4 I
: 100 hundredths Gl 40;%“&&“ :: < ‘O/ > ” < = > >
entns
| et e [ Wz | |
: 140 hundredths : : 427 Decrease by 587 ” Increase by 127 |
U
ooy | Hents 1 1 :
H eoso | Il 1007 - 58/ =42/ Mipler || 100/ + 12/ - 12/ Mitipler |
1| - 140 | 100-058-042 4 Lesthon | 100+0L- (2 4 Moethn| :
I

e — — — — — — — — — — — — — —

: Express as a 7 - Non-cakulator Percent — per hundred || Express as a 7 - Cakculator

[
I ® @ @9 | 7pereweny 0aeorange | Ths mears that 70 per every 100 I] Rosie e
aeoange 70 707 3

I

I

I
I 000 7 I = !
| oo 0 100 TREE = 3. 433333...7 |
I 1 3_0-—>|:,—>50—>x|oo—>43/ |
I 27 per every 50 shaded | 94 per every 100 shaded 0 — :
I Al 4, 547 I This the same. as |
I 50 100 1 Can't use equivalence 13-30
| I easiy o find ‘per Decimal percentages I
| | Denominator 100 || Equivalent fractions | I hundred’ are stil a percentage :
- e e ————————_———
'- __________________________________ O —————
| Percentace change || Choose appropriste method |
| I bought a house for £180,000,1 I pprop |
I | bought a phone for £200 lter sold it for £216000 Il oq |
| QO year later sold it for £125 | |
I 1007/ [ The language. and wording of |

00/ , L ) | the question is the key

| ’ . Oll values of change [ £180,000 | I I
| | £200 | 4~ compare to the | [ | Il |
| £125 [E— ORGINOL vale e | |
| Percentage bss Percentage profit | Have. you represented the question in d |
I D00 - Differerce invae . « 00 —¥ 36000 W b model? |
| 0 100 -375% Origindl valve Money made. (profit vabe) 180000 «100-207 I Can you use a cakulator? I




